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Barton Anniversaries First Names Last Names Conveyances
Howe January 14
June 7
Petty
August 7
Poole August 29
Torres October 28

1. The person whose last name is Barton has an anniversary before the commuter who rides a scooter.
2. The person whose anniversary is on January 14 uses a 10-speed bike to get to work.
3. The person whose last name is Poole has an anniversary after Leslie.

4. The 5 people were the commuter who rides a scooter, the person whose last name is Poole, the person whose
anniversary is on October 28, Dominic, and the commuter who rides a 10-speed bike.

5. Of Timothy and Oliver, one has an anniversary on August 29 and the other uses a skateboard to get to work.

6. The commuter who rides a segway does not have Barton as a last name.

7. Either the commuter who rides a 10-speed bike or the commuter who rides a mountain bike has Petty as a surname.
8. The person whose anniversary is on August 7 doesn't ride a skateboard.

9. The person whose last name is Howe is Michaela.

10. The commuter who rides a scooter has an anniversary after Oliver.

11. The commuter who rides a mountain bike does not have Petty as a last name.



